[image: image1.png]44. You have installed into a water pipe a turbine flow sensor that has a calibration factor of 60
pulses/gallon. When water is flowing in the pipe the sensor outputs 470 pulses/minute.
What is the flow rate in gallons/minute?

a) 0.128
b) 7.83

c) 470

d) 28,200

45. A slotted disk and opto-interrupter ouputs pulses at 62 Hz. The disk has only one slot cut in
it. What is the rotating speed of the disk in rpm?
a) 1.033
b) 62
c) 3,720
d) 223,200




[image: image2.png]46. In a closed loop system the process variable PV is 1.7 volts and the setpoint SP 1s 3.7 volts.
What is the error voltage?
a) 0.66V
b) 1.51V
c) 2.00V
d) 9.30V




